Math 201 Quiz 2A
September 2, 2014

Name: A NEWeRrS

Instructions: No calculators. Use your own scrap. Write your fully simplified answers in the space provided.

1. Expand and simplify.

) B
(a) (\/E+3)2= X + oX 4’% (b) (x —2)3= X~ X +12X— &

2. Factor each expression.
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(a) 4x? —11xy —3y2 = (4x+9)(%=3Y)  (b)3x*+10x243= (D% +]) (x+2)

() 8la* —16b* = (2o-2l)(a12))( ﬂﬁ‘wf)d)xusx: X(x+2 )%= 2%+ 1)
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3. Complete the square:3x% + 6x+7 = = (x+1)" 4 U

x+7 6
+ <0.
2x+12  x2-36

4. Solve the inequality (Write your solution in interval notation):

Answer: x € E. S/ é)

5. Find an equation for the line that passes through the point (3, —5) and (i) has slope -4
or (ii) is perpendicular to 2x — 4y = 3 U= =% 4+ |
]

Y= ~4Yx+7
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6. If f(x) = /x, find, rationalize and simplifyf(x—m’zﬂ = Vhix +4%

7. Find the domain of the following functions. Write in interval notation.

=2 b fwe, -1 u(-,2)u2,0d _VFE o, (-
@ f(x) T x2-x-2 D: (M) !)U( (DU b)g (x) = Vi-x2 D: ( / | )

8. Iff(x) =2x%—- x+4and g(x) =3x —1, find:

T T
(@) fog 1K = |Sx + 7] (b)gof Ex “= 2%+l
9. Find the exact values. =
JE /o JER N w’;/, L P
(a) Sin;‘E - “.’j L= (b) coS (76—7-[) = L = (C) Secs_iz — J @i—&
N STy (i) /.
10. Find all values of x such that cos 2x = sinxfor0 < x < 2m. x = /6 . /6, /5’-”

11. Sketch the graphs of the given functions.

(a) y =sinx b)y=x%2+1 (c)3x —5y =30 (dy=+vx-3
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